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(Hh ooouoobooooooooooogad.
i) sin(z; & 29) = sin z; cos z5 & €oS 21 sin 23
ii) cos(z; £ z2) = cos 21 €oS 22 F sin 27 sin 2y
iii) cos?z +sin®z =1
iv) cos(—z) =cosz, sin(—z)= —sinz
2) cosz,sinzOOOOOOOOOO.
@G UUuoddooooooooooboboooo.

i) sinh(z; & 25) = sinh 2y cosh z5 &+ cosh z; sinh 2,
i) cosh(z; & 29) = cosh 21 cosh 25 + sinh z; sinh 2,
iii) cosh?z —sinh?z =1
iv) cosh(—z) = coshz, sinh(—z) = —sinhz
(4 000000000.
i) sin(iz) = isinh z
i) cos(iz) = cosh z
iii) sinh(iz) =isinz
iv) cosh(iz) = cosz

(5) |cosi|>10000000000.
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(1) lim

z2—1 2 — 9

.21
=

sin z

(3) lim

z—0 z

COS 2

4) lim

2—T)2 2 — 7T/2

. 1—-cosz
® iy~
. z—sinz
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8) lim ~— sall

z—3mi sinh z

20100 120 140 (OOODO)



oboobDI1gg 41

103 0O0OO

130 z2=0,2z=12=14+:000000000000000000000
o0 coob.0boboobooog.

1) j{c zdz
i) 7{ zdz
C
iii) fc ¢ dz

Uoboooooboo.oogbboo cbd z=0000O00O0 aO
goboboog 1goobobobogd.

) d
ii) ?{C(z—a)dz

dz
1i1) j{; P

iv) j{c(z—a)”dz(nDDD)

(3) 00
/zdz (C:z=¢€%0<6<m/2)
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‘/zdz
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